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Y571 75.36 cmQ RHA 52 2 em Y72

Hh2]50] Zo] @ 75.36 + 3.14 + 2 = 12(cm)
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[> HED 18cm

113.04 + 3.14 + 2 = 18(cm)
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[> HE 43.96cm

7x 2% 3.14 = 43.96( cm)




(

\VARR 4
N

0.

iy

.I

o

18.84 cm

HF)=(F2]5)x2 x 3.14
= 3x2x3.14 = 18.84(cm)
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> EHE D 69.08cm

(95)
=11x2x3.14
= 69.08( cm)
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[> HED 16cm

25.12% 2 + 3.14 = 16( cm)
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=31.4+10
=3.14
(EF) = (A8 x (€58)
=20x%3.14
= 62.8

web 79 ghe A Faku
62.8 —3.14 = 59.66 YUY ct.
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[> ®EH: 158m

H2e 59 8o 2.8 x 5 = 14(HH) FU ot
36 x 3.14 x 14 = 1582.56( cm)= 15.8256(m)
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> Hg: 39.25cm?
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(#8 10emel 02] elo) 1)

- (48l 5eml 29 Wele] )

= 10x10><3.14><}1)—<5x5x3.14><%>

— 78.5— 39.25 = 39.25( cm?)
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6 x 14 = 84( cm?)
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[> HEH: 188.4cm

AT BEo] Soo] Aol A geo] 4|9 Polo] gt 2
Yet,

20 % 3.14 4+ 10 x 3.14 + 30 x 3.14

= 62.8 + 31.4 + 94.2 = 188.4( cm)
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2cm

no

(2 9e] Hol)-(2he U] Hel)
= (5x5x%x3.14) - (3 x3x3.14)
= 78.5 — 28.26 = 50.24( cm?)
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12X 12X 314 % ¢ = 113.04(cm?)
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[> HE . 634cm
120°
100cm
' 60

=9 0 (A=) + (95 +WiE
= (100 X 3) + (100 x 3.14) + 20
= 300 + 314 + 20
= 634( cm)
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277} 69.08cm? Y} E¥9] oI/} 36.4em8l BAZIFo]
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(HFA] )2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08

(HF2] )= 69.08 + 6.28

(§F2]5)= 11(cm)

@e] wo] 11 x11 x 3.14 = 379.94( cm?)
AR & Holdo] 1 36.4+4=9.1(cm)
A2l Yol 1 9.1x9.1 = 82.81(cm?)

(He] Wol)-(BAZE 2] o)
= 379.94 — 82.81 = 297.13(cm?)
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[ ]x2x3.14=87.92
[ ]x6.28 =87.92

[ ]=87.92+6.28

D = 14(cm)

215 1 14x2 = 28(cm)
O HAE O
OXxOx3.14 =706.5
OxQ=1706.5+3.14
OxO =225

O =15(cm)

Z]5 1 15%x 2 = 30(cm)
30 — 28 = 30( cm)
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